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8. sa SCIENCE
Tlme. 1.15 Hrs.. ; : , ; v o d . V'Ma;l‘kS:.r‘,
I.  Choose the correct answer: | ! b 10x1 10
‘ 1)  The electrification of two dlfferent bodies on rubbing is because of the transfer of
. Q) neutrons b) protons ) electrons - d) protons and neutrons
2) Fusels iz | . O
.a) a switch " b)a wire with low resistance
- €) a wire with high reS|stance d) a protective device for breaking an electric circuit
-3) . Sound waves travel very fast in :
a)air b) metals . ¢)vaccum d) liquids }
4)  The range of audible frequency for the human air is . a) 2 Hz to 2000 Hz
b) 20 Hz to 2000 HZ  ¢) 20 Hz to 20000 Hz d) 200 Hz to 20000 Hz
5) Cathode rays are made up of | a) neutral particles
b) positively charged particles c) negatwe!y charged particles d) None of the above
6) In water hydrogen and oxygen are combined in the ratio of by mass.
a)1:8 * - - b)8:1 ‘ c) 2:3 d) 1:3
7) ~ Water changes to ice at .
a) 0oC b) 100°C c) 102°C  d) 98°C
8)  Which of the following is a water pollutant?
a) Lead b) Alum c) Oxygen d) Chlorine
9) Joints are immovable. a) Shoulder and Arm
b) Knee and Joint ¢) Upper Jaw and Skull d) Lower and Upper Jaw
10) Cockroach moves with the help of its .
a) leg b) bone c) muscular foot  d) whole body
1II. A] Fillinthe blanks: S5x1=5
11) A structure which provides rigid frame work to the body is called
12) The boiling point of water is
13) s the smallest particle of an element.
14) Sound travels in the form of .
15) The body which has lost electrons becomes %" Sifeflued EM PAGE- |
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te true or false. If false correct the tateme
16). ‘Water can conduct electricity. b ot e
©17) In parallel circuit, current remains the same in aIl components
.. i?'Sea water is su:table for irrigation as |t contams dlssolved salts
' Soap lathers wellin hard water.. = 0.7 o
“Cardiac muscle isa voluntary muscle _

It Match the followmg
Law of conservation of mass .
~ Law of constant proportlon
Cathode rays ‘

- sirwilliam Crookes "
= James chadwick -’
e ‘Joseph proust

Anode rays’ : _ - - Lavoisier
~Neutrons. ~ ... . ' - Frequency more than 20000 Hz
“Ultrasonics ~ . © . - Goldstein. g

~ Answer any seven for the followm95' | 7?‘2=.14
.What is electroplating? - g i b
What is an ultrasonic sound?

Mentlon few measures to be taken to reduce the effect of no:se pollutlon

30) Write the names of the following comp0und5

(a)co - . (b)N,O ' (c).NOZ (d) PCI5

31). ‘What is'a chemical equatlon? | ' < 0 S,

32) What are the methods of removing hardness of water7 @c,{;?po

33) Give reasons for the followings: ' @ . N ‘94,'&0:’% b

.- -a) Wateris a Universal solvent. vb) Ice floats.on water. ”xj"’/\s\,o""o O/,Oof-z

34) What is skeleton? : d ' o, 61,0.9(9 {L%"Q’

. : T - P A &

35) Differentiate movement and Iocomotlon - B %, 6, 0((/ %
: 36) Give some uses of electroplating. -~ » ’%2, OC;

V. Answer any two of the followung questlons in deta|| . 2x5=10

Discuss various types of movements seen in Ilvmg orgamsm
Explain the different ways by which water gets polluted.
 What steps should be taken to reduce the effect of noise pollut|on’?
Write the skeleton equation for the followmg equation,

| a) .~ Carbon + Oxygen — Carbon di oxide
b) Phosphorus + Chlorine - Phosphorus Penta Chloride

c) | Sulphur + Oxygen -> Sulphur di oxide
Magnesium + HVdrogen chloride - Magnesium chloride + Hydrogen

d)
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